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Instructions to Candidates
Read the following instructions carefully before you open the question booklet

1. Answers should be written only on a separate answer sheet
2. Write your Name and Roll number very clearly on the test booklet and answer sheet.
3. Write down the Booklet Question code in the appropriate box on the answer sheet
4. There are 50 questions in this test. All are compulsory. Total time will be one hour
5. Please follow the instructions given for marking the answers
6. For all the questions 1-50, shade with ball point pen on the choice of the correct alternative on the

answer sheet against the corresponding question number. Like this
7. Since the time allotted for this question paper is very limited you should make best use of it by not

spending too much time on any one question.
8. Rough work can be done anywhere in the booklet but not on the answer sheet/loose paper
9. Every correct answer will be awarded one mark
10.Please return the Answer Sheet only to the invigilator after the test.

Sigaram Entrance Test (SET) Model Question
Sigaram Excel Target Foundation 10th std.

Name :........................................................................................................
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UôQYoLÞdLô] Ï±l×ûWLs

úLs®×jRLjûR §\lTRtÏ Øu ¸rYÚm Ï±l×ûWLû[ LY]UôL T¥dLÜm

1. T§pLû[ R²VôL RWlThÓs[ ®ûPjRô°p GÝRÜm.

2. EeLs ùTVo Utßm Y¬ûN Gi¦û] ªLj ùR°YôL ®ûPjRôs Utßm úLs®

×jRLj§p GÝRÜm.

3. úLs® ×jRLj§u AûPVô[ GÝjûR ®ûPj Rô°p ARtLô] LhPj§p GÝRÜm

4. úRoÜ Bn®tÏ 50 úLs®Ls ùLôÓdLlThÓs[]. Aû]jÕ úLs®LÞdÏm LhPôVm

T§p A°dL úYiÓm. úRoÜdLô] úSWm JÚ U¦úSWm UhÓúU.

5. T§pLû[ Ï±dL  úLs®jRô°p ùLôÓdLlThÓs[ Ï±l×ûWLû[ ©uTt\Üm.

6. 1 ØRp 50 YûW Es[ GpXô úLs®LÞdLô] T§-û] ®ûPjRô°p AkRkR úLs®

Gi¦tÏ úSWôL Es[ LhPj§tÏs (N¬Vô] T§ÛdÏ¬V§p UhÓm) TkÕ Øû] úT]ô

(Ball Point Pen) ùLôiÓ ØÝYÕUôL shade ùNnVÜm

7. ùLôÓdLlThÓs[ úSWm A[YôL CÚlTRôp, JúW úLs®«p A§L úSWm ùNX®PôUp,

CÚdÏm úSWjûR Su\ôL TVuTÓj§d ùLôs[Üm.

8. GÝjÕ úYûXLû[ úLs® ×jRLj§p GeÏ úYiÓUô]ôÛm ùNnÕ ùLôs[Xôm, B]ôp

®ûPjRô°úXô ApXÕ úYß Lô¡Rj§úXô GÝRd áPôÕ.

9. JqùYôÚ N¬Vô] ®ûPdÏm JÚ U§lùTi YZeLlTÓm

10.®ûPjRô°û] UhÓm úRoÜ Ø¥kRÜPu úUtTôoûYVô[¬Pm §Úl©d ùLôÓdLÜm.
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1. In a city 65% of the people view Tamil movies and 40% view English movies, 20% of the people view both

Tamil and English. Find the percentage of people do not view any of these movies
JÚ SLWj§u ùUôjR UdLsùRôûL«p 65 NR®¡Rm úTo Rªr §ûWlTPm TôolTYoLs 40
NR®¡Rm úTo Be¡X §ûWlTPm TôolTYoLs, 20 NR®¡Rm úTo Rªr Utßm Be¡X ùUô¯
§ûWlTPeLû[ TôolTYoLs G²p Cq®Ú ùUô¯ §ûWlTPúU TôodLôRYoL°u NR®¡Rj§û]
LôiL

a) 15 b) 85 c) 20 d) 18
2. If A = {-2, -1, 0, 3, 4}, B = {-1, 3, 5} find A - B

a) {-2, 0, 4} b) {-2, -1, -3}
c) {4, 3, 5} d) {5}

3. Find the quotient if 8x3-14x2-19x-8 is divided by 4x+3
8x3-14x2-19x-8 NUuTôhûP 4x+3-Bp YÏdÏm úTôÕ YÚm D®û] LôiL

a)  3x2-5x-2 b) 2x2+5x-1 c) 2x2-5x-1 d) 3x2+5x-1
4. One of the factors of x2-3x-10 is

x2-3x-10 Gu\ NUuTôh¥u JÚ LôW¦ VôÕ?

a) x-2 b) x+5 c) x-5 d) x-3
5. A man walks 5 km to south , then he walks 3 km turning to his right . Again he turns to his right and walks

5km. After this turning to his left he walks 5 km. In which direction and how far is he now from the starting
point?
JÚ U²Ro ùRtÏ úSôd¡ 5 ¡.Á. SPd¡\ôo. ©u]o R]Õ YXÕTdLm §Úm© 3 ¡.Á. çWm
SPd¡\ôo. ÁiÓm Ru YXlTdLm §Úm© 5 ¡.Á. çWm SPd¡\ôo. ÁiÓm CPlTdLm §Úm©
5 ¡.Á. çWm SPd¡\ôo G²p AYo R]Õ ùRôPdL ×s°«p CÚkÕ GqY[Ü çWj§p GkR
§ûN«p CÚlTôo?

a) 5 km, West b) 3 km, North  c) 3 km, East d) 8 km, West
6. The cost of three mathematics books and four science books is Rs. 216. The cost of three mathematics

books is the same as that of four science books. Find the cost of mathematics book.
êuß L¦R ×jRLeLs Utßm SôuÏ A±®Vp ×jRLeL°u ®ûX ì. 216. êuß L¦R
×jRLeL°u ®ûXÙm SôuÏ A±®Vp ×jRLeL°u ®ûXÙm NUm G²p JÚ L¦R
×jRLj§u ®ûXûVd LôiL

a) Rs. 35 b) Rs. 31 c) Rs. 36 d) Rs. 25
7. The mean of first 10 natural numbers is

ØRp TjÕ CVp GiL°u NWôN¬ûVd LôiL

a) 25 b) 55 c) 5.5 d) 2.5
8. (112 x 54) = ?

a) 67000 b) 70000 c) 76500 d) 77200
9. If the measures of three angles of a quadrilateral are 1000, 840, 760 then find the measure of forth angle

JÚ SôtLWj§u êuß úLôQeL°u A[Ü 1000, 840 Utßm 760  G²p SôuLôYÕ úLôQj§u
A[®û]d LôiL

a) 1200 b) 900 c) 1000 d) 1800

10. Classification of elements into two divisions, namely metals and non-metals was firstly attempted by
EúXôLeLs, AúXôLeLs G] R²UeLû[ CÚ YûLlTÓjÕm ØVt£ûV ØR-p
úUtùLôiPYo Vôo?

a) Lavoisier b) Mendeleev c) Dobernier d) J J Thomson
11. One of the main reason for Liver Cirrhosis is

a) Smoking b) Eating red meat c) Alcoholism d) Using Gutka
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LpÄWp CûZSôo Y[of£ úSôn HtTP Ød¡V LôW¦ GÕ?

a) ×ûL©¥jRp b) UôªNm EiÔRp

c) UÕ AÚkÕRp d) ×ûL«ûX ùUpÛRp
12. Which is the plant used in sericulture?

ThÓléf£ Y[ol©p TVuTÓjRlTÓm RôYWm GÕ?
a) Teak b) Silver Oak c) Rose wood d) Mulberry

13. Animal cell lacks
¸rLiPYt±p GkR TÏ§ ®XeÏ ùNp-p LôQlTÓY§pûX

a) Mitochondria b) Nucleus c) Cell Wall d) None of these
14. Which is the locomotory organ of Bat?

ùY[Yôp Ru AûNÜdÏ TVuTÓjÕm Eßl×?
a) wings b) fins c) petagium d) cilia

15. Which is the enzyme found in saliva?
Eªr¿¬p LôQlTÓm úY§lùTôÚs GÕ?

a) Ptyalin b) Bicarnbonate c) Sucrase d) carbon-do-oxide
16. Which is the state flower of Tamil Nadu?

a) Gloriosa Lilly b) Lotus c) Rose d) Jasmine
RªrSôh¥u Uô¨X UXo GÕ?

a) ùNeLôkRs UXo b) RôUûW c) úWô_ô d) Up-ûL

17. Who was called as the ‘Child of French Revolution’?
©WgÑl ×Wh£«u ÏZkûR Gu\ûZdLlTÓTYo Vôo?

a) Louis XVI b) Robespierre c) Voltaire d) Napolean Bonaparte
18. Which among the following literary works describes the condition of the Sangam Tamils?

a) Manimegalai b) Tholkappiyam c) Patthupattu d) Ettuthogai
NeL LôX RªZoL°u ¨ûXûV GÓjÕd áßm CXd¡Vm GÕ?

a) U¦úULûX b) ùRôpLôl©Vm c) TjÕlTôhÓ d) GhÓjùRôûL

19. The civilization that flourished in a region between two rivers named as Euphrates & Tigris is called as
a) Egyptian civilization b) Indus Valley civilization

c) Greek civilization d) Mesopatomian civilization

ëlWh¼v Utßm ûP¡¬v BßL°u LûW«p ùN¯jÕ Y[okR SôL¬Lm GÕ?

a) G¡l§V SôL¬Lm b) £kÕ NUùY° SôL¬Lm
c) ¡úWdL SôL¬Lm d) ùUNTúRôªV SôL¬Lm

20. Which was the birth place of Buddha?

×jR¬u ©\l©Pm GÕ?

a) Lumbini b) Buddh Gaya c) Saranath d) Sanchi
21. How many districts are there in Tamil Nadu?

RªZLj§p Es[ ùUôjR UôYhPeL°u Gi¦dûL?

a) 28 b) 30 c) 34 d) 32
22. Who is called as ‘Father of Medicine’?

UÚjÕY CV-u RkûR Gu\ûZdLlTÓTYo Vôo?

a) Alexander b) Hippocrates c) Aristotle d) Galileo
23. Gun powder was invented by

ùY¥ UÚkûR ØRuØR-p LiP±kRYoLs Vôo?

a) Egyptians b) Chinese c) Babylonians d) Indians
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24. What was known as the ‘Sorrow of China’?

º]ô®u ÕVWm Guß AûZdLlTÓYÕ GÕ?

a) Hwang-Ho b) Fu Xi c) Shi Hunag Ti d) Wu Wang
25. Truth, Love and a Little Malice is autobiography of

Truth, Love and a Little Malice GuTÕ VôÚûPV ÑVN¬ûR?

a) Kushwant Singh b) Arundhati Roy c) Salman Rushdie d) L K Advani
26. Which among the following dates will be annually observed as ‘International Day of Yoga’?

NoYúRN úVôLô §]m Guß AàN¬dLlTÓ¡\Õ?

a) 21 June b) 21 July c) 17 June d) 30 June
27.  Who established the Mughal dynasty?

ØLXôV úTWWûN Ck§Vô®p ¨ß®VYo Vôo?

a) Akbar b) Babur c) Humayun d) Bahadur shah
28. Who has won the 2015 Nobel Prize for Chemistry ?

2015-m Bi¥u úY§VÛdLô] úSôTp T¬Ñ VôÚdÏ YZeLlThPÕ?

a) Tomas Lindahl b)  Paul Modrich c) Aziz Sancar d) All of the above
29. "Marshmallow" is version name of which mobile operating system?

 "Marshmallow" GuTÕ GkR CVeÏR[j§u ×§V T§l×?

a) Android b) Windows phone c) iOs d)  Blackberry
30. Which among the following has been voted as most important scientific breakthrough mission of 2014?

2014-p A±®Vp EX¡p ªLf£\kR BnÜlT¦ Gu\ûZdLlTÓYÕ GÕ?

a) NASA’s MAVEN b) Rosetta Space Mission
c) ISRO’s MOM d) Curiosity Rover Mission

31. India’s first electric zero-emission bus has been introduced at
ªu]ôt\-p CVeÏm Ck§Vô®u ØRp úTÚkÕ GkR SLWj§p ØRuØRXôL
A±ØLlTÓjRlThPÕ?

a) Chennai b) Bengaluru c) Hyderabad d) Delhi
32. Which city is called as City of Golden Gate ?

ReL Yô«-u SLWm G] AûZdLlTÓm SLWm?

a) New York b) Washington c) San Fransciso d) Istanbul
32. Which of the following is the India’s first indigenously developed Light Combat Aircraft (LCA)?

ØÝdL ØÝdL EsSôh¥p RVô¬dLlThP Ck§Vô®u ØRp CXÏWL úTôo®Uô]m GÕ?

a) Dhruva b) Tejas c) Lakshya d) Garuda
33. Where is Tamil Nadu Rice Research Institute located?

RªrSôh¥u ùSp BWônf£ ûUVm GeÏs[Õ?

a) Aduthurai b) Cuddalore c) Neyveli d) Chennai
34. Who authored the novel ‘The God of Small Things’?

The God of Small Things Gu\ SôY-u B£¬Vo Vôo?

a) Vikram Seth b) R K Narayan c) Arundathi Roy d) Ruskin Bond
35. Which instrument is used to measure the height and diameter of trees?

UWeL°u ¿[m Utßm ®hPjûR A[dLl TVuTÓm LÚ® GÕ?

a) Barometer b) Rain gauge c) Dendrometer d) Moh’s Scale
36. Which country is called as the ‘Land of Midnight Sun’?
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‘Land of Midnight Sun’ Gu\ûZdLlTÓm SôÓ GÕ?

a) Norway b) Japan c) Bhutan d) Thailand
37. Which was the year in which French Revolution took place?

©WgÑ ×Wh£ GkR BiÓ SûPùTt\Õ?
a) 1749 b) 1759 c) 1779 d) 1789

38. Which of the following is an award presented by the Government of India for excellence in sports
coaching?
Ck§Vô®p ®û[VôhÓj Õû\«p £\kR T«t£Vô[oLÞdÏ YZeLlTÓm EV¬V ®ÚÕ
GÕ?

a) Arjuna award b) Khel ratna award c) Dronocharya award d) Padma shri award
39. Human Rights day is observed on

U²R E¬ûULs §]m Guß AàN¬dLlTÓ¡\Õ?

a) December 10 b) December 14 c) December 25 d) December 28
40. How many schedules are there in Indian constitution?

Ck§V AW£VXûUl×f NhPj§p Es[ ùUôjR AhPYûQL°u Gi¦dûL?

a) 11 b) 12 c) 13 d) 14
Directions (41 & 42): In the following two questions find out the alternative which will replace the question

mark.
41. PALE : LEAP :: POSH : ?

a) HSOP b) POHS c) SHOP d) SOHP

42. CFDG : LOMP :: HKIL : ?

a) QTRU b) QRTU c) PSQT d) RUSV
Directions (43 & 44): Select the word that is most similar in meaning to the word in capital letters

43. REPRIMAND

a) Praise b) Reminder c) Rebuke d) Reward

44. DECLINE
a) Mountain b) Discipline c) Descent d) Slope

Directions (45 & 46): Identify the one that does not belong to the group
45. a) Sphere b) Cube c) Parallelogram d) Cylinder
46. a) 27 b) 66 c) 58 d) 30
47. In a certain code MONKEY is written as XDJMNL. How is TIGER written in that code?

a) SDFHS b) SHFDQ c) QDFHS d) UJHFS
48. In a certain code BELT is written as MRIC and SUM is written as TBA, what word does TIBA

stands for ?
a) SLUM b) SUMP c) BEST d) TUBE

Directions (49 & 50): Find the next term in the series
49. 5, 7, 11, 19, 35, 67, ?

a) 64 b) 135 c) 131 d) 95
50. CAT, FDW, IGZ, ?

a) LJC b) KJA c) KTC d) LHD


